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Peer group interaction in a classroom helps in

(1) Concept understanding

2) Realization of One's misunderstanding
(3) Rapport Building

(4) Questioning

Options :
64635091339, 1

64635091340. 2
64635091341. 3
64£35081342. 4

Question Number : 1 Question Id : 64635023270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091335. 1

64£35091340. 2
64635091341. 3
64635081342, 4

Question Number : 2 Question Id ; 64635023271 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more initiative for self-learnming is evident, which of the
following expression will describe the teacher most appropriately?

(1) Teacher i1s successful (2) Teacher is effective
3) Teacher 1s intelligent (4) Teacher is practical
Options :

64£35091345. 1
64635091344. 2
64635091345. 3
64635081346, 4
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Question Number : 2 Question Id : 64635023271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081343. 1
64635091344. 2
64635091345. 3
64E3500134E. 4

Question Number : 3 Question Id : 64635023272 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Reinforcement of learning
Options :

64635091347, 1
64635091343 2
64635091349. 3
64635081350, 4

Question Number : 3 Question Id : 64635023272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64655091347. 1
64635098134838. 2
64635091343. 3
64£35091350. 4

Question Number : 4 Question Id : 64635023273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
(2) Including the disabled in the main stream

3) Provides compulsory education for children below 14 years
4) Ensuring that no child is left behind in education

Options :

646350891351, 1
64635081352, 2
64635081353, 3
64635091354, 4

Question Number : 4 Question Id : 64635023273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Options :
64635091351. 1

64635081352. 2
64635081353. 3
64635091354, 4

Question Number : § Question Id : 64635023274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Lastening is important for a teacher to

(1) address the requirement of the learner

(2) gain knowledge

(3) keep the learner in good humour

4) evaluate the learner for the progress made

Options :

64635091355. 1
64635091356, 2
64635081357, 3
64635081358, 4

Question Number : 5 Question Id ;: 64635023274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
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Options :
64635091355, 1

64635081356. 2
64635091357. 3
64635081358, 4

Question Number : 6 Question Id : 64635023275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options :

64635509135%9. 1
64635081360. 2
64635081361. 3
64635091362, 4

Question Number : 6 Question Id : 64635023275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6465509135%9. 1
64635081360. 2
64635091361. 3
64635081362. 4

Question Number : 7 Question Id : 64635023276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this is termed as the

1) Bwvaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options :

64655091363. 1
64635091364, 2
64635091365, 3
64635081366. 4

Question Number : 7 Question Id : 64635023276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635091363, 1
64635081364, 2
64635081365. 3
64635081366, 4

Question Number : 8 Question Id : 64635023277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2) Explanatory research
(3) Correlational research (4) Feasibility research
Options :

64635091367. 1
646350913638. 2
6463509136%9. 3
64635081370. 4

Question Number : 8 Question Id : 64635023277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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64E35091367. 1
646350913638. 2
6463509136%9. 3
64635081370. 4

Question Number : 9 Question Id : 64635023278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building  (2) Building the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options :
64635091371. 1

64635081372. 2
64E35091375. 3
64635081374, 4

Question Number : 9 Question Id ; 64635023278 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Options :

64635091371 1
64E35001372. 2
64635081373. 3
64635081374. 4

Question Number : 10 Question Id : 64635023279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
3) Primary sources @ Tertiary sources
Options :

64635091375. 1
64635091376. 2
64635091377. 3
64635081373. 4

Question Number : 10 Question Id : 64635023279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091375. 1

64635091376. 2
B64E35081377. 2
646350813738. 4

Sub-Section Number: 2
Sub-Section Id: 6463501148
Question Shuffling Allowed : Yes

Question Id : 64635023280 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers ; (11 to 15)

A business will usually go through a clear set of stages that will make up 1ts organisational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, is the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process

of the business. The main goal at this stage 1s to take off to a good start and make a place 1n
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort is to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time 1s spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus is on the expansion of the business, keeping in
mind its core strength and capability. A formal orgamsational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy

may have become weak and the formal structures may have become obstacles. A lot of care is
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635023281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) Atlate growth
Options :

64635091379. 1
64£35091380. 2
64635091381. 3
646350813582. 4

Question Number : 12 Question Id : 64635023282 Question Type : MCQ Option Shufiling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The founder of a business does not move to a more managerial role at which stage?

(1) Barly growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options :

64635081383. 1
64635091384. 2
64635091385. 3
64E3500138E. 4

Question Number : 13 Question Id : 64635023283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Venturing into related products and services does not mean that a business wll

(1) ignore the original product

®) move the founder to a more managerial role
3) delegate more responsibilities

4) ignore the related products and services

Options :
64635091387. 1

64635081388. 2
64635091389. 3
64635081330. 4

Question Number : 14 Question Id : 64635023284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options :

646550913391. 1
64635081392. 2
64635091383. 3
64635091394. 4

Question Number : 15 Question Id : 64635023285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The slowing down of a business can happen if,

(1) there1g a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options :
64635091395, 1

64635081336. 2
646350813397. 3
646350913938. 4

Question Id : 64635023280 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
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Sub questions

Question Number : 11 Question Id : 64635023281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635091379. 1
64635081380. 2
64635091381. 3
64635081382. 4

Question Number : 12 Question Id : 64635023282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091383 1

64635091384. 2
64635081385. 3
64635081386. 4

Question Number : 13 Question Id : 64635023283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091387, 1

64635081388. 2
64635091389. 3
64635081330. 4

Question Number : 14 Question Id : 64635023284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635091391. 1
64635091392. 2
646350913383. 3
64£35091394. 4

Question Nuinber : 15 Question Id : 64635023285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635081395, 1

646350913396. 2
64635081387. 3
6463508133938. 4

Sub-Section Number: 3
Sub-Section Id: 6463501149
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635023286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Semantic barrier of communication is implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source1s unclear

(3) receiver's attention s diverted

(4) receiver does not understand the meaning of the message
Options :

64635091399. 1
64635091400. 2
64635091401. 3
64£35001402. 4

Question Number : 16 Question Id : 64635023286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081395, 1
64635081400. 2
64635081401, 3
64635081402, 4

Question Number : 17 Question Id : 64635023287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

2) Learner attending an online class
(3) The dress code followed by an individual
(4) Yoga instructor teaching yoga poses to the pupils

Options :

64635081403, 1
64635081404, 2
64635081405, 3
64635091406, 4

Question Number : 17 Question Id : 64635023287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
646350914035. 1

646350981404, 2
64635091405. 3
64635091406. 4
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Question Numnber : 18 Question Id : 64635023288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of commumnity.

Choose the correct option given below :

(1) Both (A) and (R) are true and R is the correct explanation of A

2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1s true but (R) 1s false

4 (A) 1s false but (R) 1s true

Options :

64635091407, 1
64635081408, 2
64635091409, 3
64635081410. 4

Question Number : 1§ Question Id : 64635023288 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Options :

64635091407, 1
64635081408, 2
64635081409. 3
646350891410, 4

Question Number : 19 Question Id : 64635023289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following is a stage of intrapersonal communication?

(1)
@)
(3)
)

Options :

Phatic stage
Intimate stage

Personal stage

Transcendental communication

646355091411. 1
646350981412. 2
64635091413. 3
64635091414 4
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Question Number : 19 Question Id : 64635023289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFfiliga ¥ 9 19 s=adufeae TU9T S U T 87

Options :

1)
@)
@)
4)

HMETRF F0T
SFTET =0T
Jafaas =T
RECIEER L

646355091411. 1
646350981412. 2
64635091413. 3
64635091414 4

Question Number : 20 Question Id : 64635023290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is a characteristic of modern mass media?

(1)
3)

Options :

Capital intensive

Sustainable

64655091415. 1
646355081416. 2
64635081417. 3
646350914183, 4

(2) Labour intensive
(4) Developmental
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Question Number : 20 Question Id : 64635023290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e A @ w9 g = Hifgan 6 foar 37
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Options :
64635091415, 1

64655091416. 2
646350981417. 3
6463509141838, 4

Question Number : 21 Question Id : 64635023291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If RED 15 coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
3) 0207716 4 1677199
Options :

64635091419. 1
64635091420. 2
64635091421. 3
64635091422, 4

Question Number : 21 Question Id : 64635023291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afe RED %! e "mr # 6720 f@n 5|, at GREEN # frar yr gesrg foem smom?

1) 16717209 (2) 1677209
@) 9207716 (4) 1677199
Options :

64635081419. 1
64635091420. 2
64635091421. 3
64635081422, 4
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Question Number : 22 Question Id : 64635023292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If0.75 £ = 0.02 v, then the value of [yx] 18

yY+x
73 75
iy L= by a2
(L = (2) ==
73 730
3 — 4) —
3) 7 4) e
Options :

64635081423. 1
64635091424, 2
64635081425, 3
646355081426, 4

Question Number : 22 Question Id : 64635023292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A 0.75%x=0.02y &, A 2= F AA 2

S o
73 Fi5
1 — 2) —
@) 75 @ T
T3 730
3 — 4) —
®) T @ 75
Options :
64635091423, 1
64635091424, 2
64635091425, 3
64635091426 4

Question Number : 23 Question Id : 64635023293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the average of five numbers is —20 and the sum of three of the numbers 1s 32, then what 1s
the average of the other two numbers?

(I -66 2 -33
(3 34 4 -132
Options :

646355091427 1
646350914238 2
64£35091429. 2
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64635091420, 4

Question Number : 23 Question Id : 64635023293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gic qi TR A —20 3, SR 3 I o aEAret o T 32 B, 91 2 gl GEEA W a0
3?

1 -66 (2) -88
@ -3 @ -132
Options :

64635081427 1
64635091428 2
64635081429. 3
64E350914=20. 4

Question Number : 24 Question Id : 64635023294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man travelled from the village to the raillway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the railway
station from the willage.

(1) 10km (2 15km
@ 20km @ 40 km
Options :

646355091431. 1
64635081432, 2
64635091433. 3
64635091434, 4

Question Number : 24 Question Id : 64635023294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HI3 =Afd ME & W I AT 20 kmph i g1 F w0 2 a0 a9F 5 kmph &L F s §1 Ak
FqUT AT H 3 592 R E, A1 TE A Yo woeE o gl Fif )

(1) 10 km (2) 15km
3 20 kan 4) 40 km
Options :
64635091421. 1
64635091432, 2
64635081433. 3
646350981424, 4

Question Number : 25 Question Id : 64635023295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A trader mixes three varieties of refined ail costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 1n terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% 2) 10%
@) 9% 4 8%
Options :

64655091435. 1
64635091436. 2
64£35091457. 2
646350981433. 4

Question Number : 25 Question Id : 64635023295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

shlg Ml 100 &., 40 & 4 60 &. ufd <iier i aFa at dF ¥9R & fiwss da & dict & 96 A
2:4: 8 Ia H Femar 3 2t 39 Fen l 66 5. gid <fter i gt @ d=ar 21 39 e wfawa w0 e

gran 27
(1) 12% (2) 10%
@ % @ 8%

Options :
64635091435, 1

64635091436. 2
64E35091457. 3
64635091433, 4

Question Number : 26 Question Id : 64635023296 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
No Musicians are Japenese

All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject 1n the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

4@ Subject 1n both the premises

Options :
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64E35091429. 1
64635091440. 2
64635091441. 3
64635091442, 4

Question Number : 26 Question Id : 64635023296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I3 TIGR STYH &l 2 |
aHl g TIaE Z |
i AT SIUHT 7 21
IRfH AEEd § ALAg Sl ugEr i
(1) 9% IR I H Fdl AR g8 NGR a1 | f3g
(2)  UE ORI H (98 iR g nan aem § Fdl
(3) g nar gl | fasu
(4 AT aR JEEil J F

Options :
64635091435. 1

64635091440. 2
64635091441. 3
64635081442, 4

Question Number : 27 Question Id : 64635023297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Inductive argument proceeds from

(1) Universal to Particular
(2) Particular to Universal
3) Universal to Universal

4) Particular to Particular

Options :
64635091445, 1

64635091444, 2
64£3508144E. 3
64635091446, 4
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Question Number : 27 Question Id : 64635023297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HAFTHATCHS: aoh (78 T8 30 2T 87

1) et 3 Rl
(2) Tafte o v

(3)  TTEHIH® ¥ AEHIR
@)  fafyre @ fafse

Options :
64635091443 1

64635091444, 2
64635081445, 3
64635091446, 4

Question Number : 28 Question Id : 64635023298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Among the five friends, Vineet i1s taller than Monika, but not as tall as Ram. Jacob i1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

2 Monika

3) Vineet

4) Jacob
Options :

64£35091447. 1
64635091443 2
64635091449, 3
64635081450, 4

Question Number : 28 Question Id : 64635023298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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o el & fodte Oifer O T 2 afe o Rreer dan Af 2 S ecfin @ o 2 Sfew ot &
ST 31 & g § aE G B 27

1) ™
2  AfFw
@ T
@

Options :
64635081447, 1

64635091443 2
64635091449, 3
64635081450, 4

Question Number : 29 Question Id : 64635023299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the example given below :
Devadatta is growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic involved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabdz
Options :

64655091451. 1
64E35091452. 2
64635091453 3
64655081454, 4

Question Number : 29 Question Id : 64635023299 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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=1 T, 3grr w =m fifg
gaed el g @I 2|
ag fot # @ i @ 2 |
AT
ag Ud Sl WHT1 Wrar 2,
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e few e ey € agrar & v IEw E ffga o i vgem S
1) ik (2) Ty
@ A (4) =g

Options :
64635081451, 1

64635091452, 2
64635081453. 3
64635091454, 4

Question Number : 30 Question Id : 64635023300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the argument provided below :

“Sound is permanent because it is a product like the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options :

646350891455. 1
64635081456. 2
64635091457. 3
64635081458, 4

Question Number : 30 Question Id : 64635023300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Ha feu a% w fomm Hife

A TUR & 391 78 SR i @ N AE §,

Al 4T 70, fashedl § WRAR a9 % ER 9 W d H Hiza ymean S w@g=e FiN;
(O a9 are sard (2) O ANFHE U TR Ty
(@)  FEIE TF B ecdHg @) T8 T F oAU
Options :

64635091455. 1
64E35001456, 2
64635091457. 3
64635091458. 4

Sub-Section Number: 4
Sub-Section Id: 6463501150
Question Shuffling Allowed : Yes

Question Id : 64635023301 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers ; (31 to 35)

Consider the following table that shows the production of fertilizers by a company Gn 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained in the table :
Year : 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

Production of Fertilizers : | 35 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635023302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

1 2 @ 3
@ 4 @ 5
Options :

6465509145%9. 1
64635091460. 2
646355091461. 3
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64635091462, 4

Question Number : 32 Question Id : 64635023303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
(3) 22.6% 4 24.2%
Options :

64635091465, 1
64635091464, 2
64635091465, 3
64635091466. 4

Question Number : 33 Question Id : 64635023304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

QO  157% @) 165%
(3) 177% 4 182%
Options :

64635091467, 1
646350914638 2
64635091469. 3
64635091470. 4

Question Number : 34 Question Id : 64635023305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year, the percentage increase 1n production as compared to the previous year was
maximum?

(1) 2012 (2) 2013
@) 2015 4 2018
Options :

646355081471 1
646350981472, 2
64635081473. 3
64635081474. 4

Question Number : 35 Question Id : 64635023306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of years?

(1) 2011 and 2012
2 2011 and 2017
@) 2012 and 2014
@ 2015 and 2016

Options :
646350891475, 1

64635091476. 2
64635091477. 3
64635081473, 4

Question Id : 64635023301 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)

Frefifige o ® fomm ShifSie st ad 2011 - 2018 % sfta o1 % 34T 3ARA (10000 ) I guiar
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

ol T 3T 35 50 70 55 e 60 85 90

Sub questions

Question Number : 31 Question Id : 64635023302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

feu 7o feree ANt A 33T T 3cEq 2o o aet & <iue Seaed ¥ st an?

1 2 2 3
@) 4 4 5

Options :
64635091455, 1

64635091460. 2
64£350014€1. =
64635091462, 4

Question Number : 32 Question Id : 64635023303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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2013 % 2014 9% IR & Iued H foram ufawa Praee 2wfi ?

(1)  20.4 vfaem (2) 21.4 yfawa
@) 22.69fwE @) 24.29fdwE

Options :
646350914635, 1

64635081464, 2
64635091465, 3
646350981466, 4

Question Number : 33 Question Id : 64635023304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a4 2018 I qEHT H ¥ 2011 H ISH A H gy F ufowa Fe fra oar?

1)  157% (2 165%
@  177% @) 182%

Options :
64635091467. 1

64635091468 2
64635091469. 3
64635081470. 4

Question Number : 34 Question Id : 64635023305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forer o ® Icq1EA | g = iewra st e i go J SAfteram o4r?

(1) 2012 (2) 2013
@) 2015 4 2018

Options :
64635091471. 1

646350981472, 2
64635091473. 3
64635091474, 4

Question Number : 35 Question Id : 64635023306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fftfiact ol < 70 | O Foresl 3o 3cted WX 2012 3K 2018 % 4 Seled & fdodal dHA 917

(1) 2011 &R 2012
(@) 2011 &R 2017
(3) 2012 ¥R 2014
(4) 2015 &R 2016

Options :

64635081475, 1
64635081476, 2
64635081477. 3
646350891478, 4

Sub-Section Number: 3
Sub-Section Id: 6463501151
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635023307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the following :
oet 1 Set 11
(@) First Generation @) Transistor
(b) Second Generation 1) VLSI microprocessor
() Third Generation (1) Vacuum tube
(d) Fourth Generation (v) Integrated circuit

Select the correct option from the following :

(a) (b) (©) (d)

1 @ v (1) (1)
@ @ O Qv) (1)
@ @ © @) av)
4 @O () @av) (1)

Options :
64635091479, 1

64635091480. 2
64635091481. 3
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64635091482, 4

Question Number : 36 Question Id : 64635023307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FEfIea 1 R I |
we -1 we-1I
(@ S @) FAL S
b  fdw bl (i) ol Ut TH AT AGShISIEET

€)  gdm el (1it) CERREERT
@ el it (iv) sdifee aihe
Feferfiaa & @dt s =T hif
@ O © (d)

Q) ) G @) (i)
@ ) Q@ av) (11)
@ @y @ @) @v)
@ O G @v) (1t)

Options :
64635091475, 1

64635091480. 2
64635091481. 3
646355091482, 4

Question Number : 37 Question Id : 64635023308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

One TeraByte (TB) of memory is equal to

(1) 1024 KB

2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options :
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64E35091485. 1
64635091484, 2
64635091485. 3
64635091456. 4

Question Number : 37 Question Id : 64635023308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

% aEZ (TR) ¥R fras guH 27

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
4) 1024 x 1024 x1024 Bytes

Options :
64635081435, 1

64635091484, 2
64635091485. 3
64E3500148€. 4

Question Number : 38 Question Id : 64635023309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AfAn 1s a computer program that spreads by inserting copies of itself into ather
executable code or documents.

(1) Operating System (2) Computer Virus
3) Firewall 4) Anti-virus
Options :

64£35091487. 1
646350914838. 2
6463509148%9. 3
64635091490. 4

Question Number : 38 Question Id : 64635023309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U HYE MW 3 Sl - S’ 2T U e | st wiafaival stasenia &

o et 2|

(L) AT Rreen (2) FH TIH
(3)  FRR @ <& arwE
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Options :
64635091487, 1

64635091488. 2
6463508148%8. 3
64635091430. 4

Question Number : 39 Question Id : 64635023310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Audio and Video compression, the term RGB means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black @) Red, Grey, Black
Options :

64655091431. 1
646350914392. 2
64635081483. 3
646350914394, 4

Question Number : 39 Question Id : 64635023310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JAlfedt AR Hifedl =¥ § RGB #1 3y 2

DT - A § 2 W@, W, sq
@ g i\, <% @) I, U, A%

Options :
64635091491, 1

646350914392, 2
646350814383. 3
64635091494, 4

Question Number : 40 Question Id : 64635023311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not a/an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome 4) Yahoo
Options :

6463550914395. 1
64635091436. 2
64635081437. 3
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64635091495, 4

Question Number : 40 Question Id : 64635023311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFefafiga § O <o gg SIS A8 27
(1) 3T EERIW (2) AT B Biad
@ T wH @) a5

Options :
64635091495, 1

646350814396, 2
646350914397. 3
646350814938, 4

Question Number : 41 Question Id : 64635023312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The target set by Indian government for generating power from wind energy by the year
2022 is

(1) 60 GW (2) BOGW
3) 40GW @ 15GW
Options :

64655091499, 1
64635091500. 2
64635081501, 3
64635091502, 4

Question Number : 41 Question Id : 64635023312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A 2022 d% Uad F9l U foeiell 30 R & [T Wi 9 A Ja1 dg Fuifia [ear 272

(1) 60GW (20 50GCGW
3  40GW 4 15GW

Options :
64635081499, 1

64635081500. 2
64635091501, 3
64£35091502. 4

Question Number : 42 Question Id : 64635023313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Which pollutant is the major source of marine pollution?

(1) Agricultural run-off
2) Oi1l spill
(3) Industrial waste water

(4) Sewage

Options :
64635091503, 1

64635091504, 2
64635081505. 3
646350981506. 4

Question Number : 42 Question Id : 64635023313 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

HET TEHF TG TG0 H TH 981 S 37
() PN AvarE

2) de1 e

@) s Ee S

@ e

Options :
64635091503. 1

64635091504, 2
64635091505. 3
64635081506, 4

Question Number : 43 Question Id : 64635023314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Permatfrost is defining characteristic of which biome?

(1) Taiga (2) Tundra
(3) Grassland 4) Desert
Options :

64635081507. 1
64635091508. 2
646350815098. 3
64635091510. 4

Question Number : 43 Question Id : 64635023314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

TS ToFT SrH S e @ sarar 27

1) om @ T

(3) =™ % #gH @) TR
Options :

64635091507. 1
64635091508. 2
64635081509. 3
64635091510. 4

Question Number : 44 Question Id : 64635023315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The mangroves exist in

(1) Fresh water system (2) Temperate areas
3) Semi-arid areas 4 Saline waters
Options :

64635091511. 1
64£35091512. 2
64635091513. 3
64635091514, 4

Question Number : 44 Question Id : 64635023315 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Fo® Sl FHal Mo 22
(1)  qmn S Sons! (2) TamuEd
@) ASTH T @) WU S

Options :
64635091511, 1

64635081512, 2
64635091513. 3
64635081514, 4

Question Number : 45 Question Id : 64635023316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Chemical oxygen demand in eutrophic water 1s

(1) Low
) High
(3) Medium

4) Extremely low

Options :
64635091515, 1

64635081516. 2
64635091517. 3
64635081518, 4

Question Number : 45 Question Id : 64635023316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Jerieeh S W Fiewa AefisH & AF S 8-
Q) =

@ 8=

(8) AT

@ oo F=

Options :

64635081515, 1
64635081516, 2
64635081517, 3
646350915183 4

Question Number : 46 Question Id : 64635023317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which era given below, higher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Bra (4) Post-Independence Era
Options :

6463509151%9. 1
64635091520. 2
64635091521. 3
64635081522, 4



www.prepp.in .repp

Your Personal Exams Guide

Question Numnber : 46 Question Id : 64635023317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635081519, 1

64635091520. 2
64635081521. 3
64635081522, 4

Question Number : 47 Question Id : 64635023318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 @ 1964
Options :

64655091523. 1
64635081524. 2
64635091525. 3
64635081526. 4

Question Number : 47 Question Id : 64635023318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A W Frgatoener i s e ad # 842

(1) 1957 (2) 1857
8) 1947 4 1964
Options :

64635091523. 1
64635091524. 2
64635091525. 3
64635091526, 4

Question Number : 48 Question Id : 64635023319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The report of which of the following Education Commissions carries the sub-title Education
for National Development'?

(1) Radhakrishnan Commission

(2) Mudaliar Commission

(3) Calcutta University Education Commission
(4) Kothari Commission

Options :
64635081527, 1

64635091528 2
64635091529. 3
64635091530. 4

Question Number : 48 Question Id : 64635023319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091527. 1

64E35091528. 2
64635091529. 3
64635091530. 4

Question Number : 49 Question Id : 64635023320 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
2) okills Acquisition and Karatae Awareness for Livelihood Promotion

3 Skills Acquisition and Knowledge Awareness for lavelihood Promotion

4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options :
64635081531, 1

64635091532, 2
64635081533. 3
64635081534. 4
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Question Number : 49 Question Id : 64635023320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091531. 1

64E35091552. 2
64635081533. 3
64635091534, 4

Question Number : 50 Question Id : 64635023321 Question Type : MCQ Option Shuffling ;: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following statements best explains the concept of sustainable development?
(1) Use of natural resources minimally

(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously so that they are available for future generations

(4) Preserve our natural resources for our future generation

Options :
64635091535, 1

64635091536. 2
64E35091537. 2
64635091533, 4

Question Number : 50 Question Id : 64635023321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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646355091535. 1
64635081536. 2
64E35091527. 3
646350915338. 4

PART Il Management

Section Id : 646350450
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questions to be attempted: 100
Section Marks: 2000
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 6463501152
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635023322 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The income or gain expected from the second best use of resources lost due to the best
use of the scarce resources is known as

Marginality principle
Opportunity cost
Incremental principle

Equi-marginal principle
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Options :
64635091539 1

64635091540. 2
64635081541. 3
64635081542, 4

Question Number : 51 Question Id : 64635023322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

oY FOIeFT O 3599 IUAIT P HRUT FOEE & Gda Saed STArT 9 TR S SiEl
g &1 Fgfeied & | oo e o 82

1. IiHidar &1 gia
2. ST E@rId

3. SWRgls e
4. JHHAE-dWE g

Options :
64635091539, 1

64635081540. 2
64635091541. 3
646350981542, 4

Question Number : 52 Question Id : 64635023323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to which of the following approaches of decision making, a manager picks
up a course of action that 1s satisfactory or good enough under the circumstances?

1. The Behavioural Approach
2.  The Bounded Rationality Approach
3.  The “‘Garbage Can’ Approach

4.  The Cooperative Social Systems Approach

Options :
64635091545, 1

64£35091544. 2
64635091545. 3
64635091546, 4

Question Number : 52 Question Id : 64635023323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091545, 1

64635091544, 2
64£35091545. 2
64635091546. 4

Question Number : 53 Question Id : 64635023324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Match List—I with List=II :
List-I List—I1

(a) Goal (1)  Basic function or task of an
orgamsation

(b) Strategy (1) End towards which an activity
is directed

(¢) Mission (in)} Adoption of course of action
to achieve long term
objectives

(d) Rule (iv) Actions or non-actions
allowing no discretion

Choose the correct option from those given below :
1. (@)@ (b)—av); (o)1), (d)-u)
2. (a)y-Qv); (b)-); (¢)-(u); (d){11)
3. (ay-); (b-u); (c)D); (d)—v)
4. (a)-Qv); (b)-Qu); (c)-Q); (d)—1m)

Options :
64635081547, 1

64635091543 2
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Question Number : 53 Question Id : 64635023324 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks ;: 2 Wrong Marks :

-1 P -1 & gAferd Sifo
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(b)
(¢c) m==
(d) fm

feu g fae el H 9 96l xR &1 90 DI :
1. (@@ (b)-av); (¢)-(); (d)-(m)
2. (2)-(v); (b)-(); (e)—(1); (d)-(1i)
3. (- (b)—ur); (-3 (D-av)
4. (a)-(wv); (b)-(un); (c)-); (dD)—(1)

Options :
64635081547, 1

64635091543 2
64635091549. 3
64635081550, 4
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Question Number : 34 Question Id : 64635023325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line (Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Assertion (A) : Corporate governance 1s an 1mportant instrument of investor
protection.

Reason (R) : Sirong corporate governance 1s indispensable to resilient and vibrant
capital markets.

Which one of the following options is correct?
1. Both (A) and (R) are correct and (R) 1s the right explanation of (A)
2. Both (A) and (R) are correct but (R) is not the right explanation of (A)
3.  (A)is correct but (R) 1s incorrect

4. Both (A) and (R) are incorrect

Options :

64635081551, 1
64635081552, 2
64635081553, 3
64635081554, 4

Question Number : 54 Question Id : 64635023325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635081551, 1

64635081552, 2
64635091553. 3
64635081554, 4



www.prepp.in .repp

Your Personal Exams Guide

Question Number : 55 Question Id : 64635023326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List—I with List-II :

List List-I
(Decision making Bias) (Explanation)
(a) Anchoring Bias (1)  Represents a case of selective
perception

(b) Escalation of commitment (1)  Refers to our staying with a
decision even if there is clear
evidence it’s wrong

(¢) Confirmation Bias (im) Tendency to believe falsely,
after the outcome 1s known

(d} Hindsight Bias (1v) Tendency to fixate on imitial
information and fail to
adequately adjust for
subsequent information

Choose the correct option from those given below :
1. (@-); (b)-it); (—1); (d)-v)
2. (@-(v); (b)-w); (¢)-@); (A1)
3. (@-Qv); (b)-G1); (o)-(ui); (d)—1)
4. (@) (0)-1); (0)—1v); (d)-)

Options :

64635081555, 1
64635081556, 2
64635081557, 3
64£350381555. 4

Question Number : 55 Question Id : 64635023326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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L. (&) (D)HiD); (¢)-1); (D)
2. (2)-(v); (0)-); (¢)-); ()
3. (@-Qv); (b)-G1); (0)-Gui); (D)
4. (a)-(iid); (b)-(D); ()-(v); (d)—(id)

Options :

64655091555. 1
646350891556. 2
64635091557. 3
646350891558. 4
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Question Number : 36 Question Id : 64635023327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following i1s true for a monopoly firm that operates at the level of
output where MR = MC?

1. If AR > AC, there is abnormal profit for the firm
2. If AR = AC, there is abnormal profit for the firm
3. If AR > AC, the firm earns only normal profit

4. If AR £ AC, the firm earns only normal profit

Options :
64635091559, 1

64635081560. 2
64635081561, 3
64635091562, 4

Question Number : 56 Question Id : 64635023327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091555, 1

64635081560. 2
64E350915€1. 3
64635081562, 4

Question Number : 57 Question Id : 64635023328 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following demand forecasting methods 1s NOT a survey method?
1. Delphi method
2. End use method
3.  Graphical method

4.  Complete enumeration method

Options :
64635081563, 1

64635081564, 2
64635091565, 3
64635081566, 4

Question Number : 57 Question Id : 64635023328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091563, 1

64E35091564. 2
64635091565, 3
64635091566, 4

Question Number : 5§ Question Id : 64635023329 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List—I with List-II :

List-I List-II
(Market structure) (Feature)

(a) Perfect competition (1)  Productis differentiated

(b) Monopoly (11) Homogeneous or
differentiated products

(¢c) Monopolistic competition (in) Factors of production are
freely mobile between firms

(d) Oligopoly (1v)  Legal restrictions on enfry of
new firms

Choose the correct option from those given below
L. (@-@); (D-G); ()-v); (d)-ii)
2. (a)-(ii1); (b)-(v); (0)~(D; (d)—(D)
3. (a)-(); (b)-v); (o)-(); (1)
4. (a)-@i); (B)-(v); (0)-@); (d)—(1)

Options :

64635081567, 1
64635081568, 2
64635081569, 3
64635091570, 4

Question Number : 58 Question Id : 64635023329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

L. (a)-@); ®-); (¢)—v); (d)—(m)

2. (a)-(u); (b)-(v); (¢)-Q); (d)—()
3. (a)-(); (B)H1v); (o)-(ui); (1)
4. (i), (B)Hiv); ()-@); (d)ii)

64635091567. 1
64635081568. 2
6463509156%8. 3
64635091570. 4

Question Number : 59 Question Id : 64635023330 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks ;: 2 Wrong Marks ;

Which one of the following is NOT correct for National Income?

Options :

L

2.

Gross National Product (GNP) > Gross National Income (GNI)
Gross Domestic Product (GDP) = GNP less Net Income from Abroad
Net National Product (INNP) = GNP less Depreciation

Net Domestic Product (NDP) = NNP less Net Income from Abroad
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64E35091571. 1
64635081572, 2
64635091573. 3
64635091574, 4

Question Number : 59 Question Id : 64635023330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091571. 1

64635081572, 2
64635091573. 3
64635091574, 4

Question Number : 60 Question Id : 64635023331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For which of the following types of goods the demand increases rapidly with the
increase 1in consumer’s income but slows down with further increases in income?

1 Inferior goods
2.  Essential consumer goods
3. Normal goods
4. Luxury and prestige goods

Options :
64635081575, 1

646350981576. 2
B4635081577. 3
646350815738 4

Question Number : 60 Question Id : 64635023331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091575, 1

64635081576. 2
B64E35091577. 3
64635081573, 4

Question Number : 61 Question Id : 64635023332 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Authority 1s the right to make decisions to direct the work of others and to give orders.
In this context match List—I with List-II :

List- List-II
(a) Line Authornty (1)  Gives a manager the right to
advice other managers or
employees
(b) Staff Authority (1) Traditionally gives managers

the right to 1ssue orders to
other managers or employees

(¢) Line Manager (1) A manager who assists and
advises the manager

(d) Staff Manager (v) A manager who is authorised
to direct the work of
subordinates 1s responsible for
accomplishing the
orgamsation’s tasks

Choose the correct option from those given below :

L. (a)-Q); (0)—v); (o)—(u); (D)
2. (a)-@); (0)-1); (e)-iv); (d)—{(1ii)
3. (@-Qv); (b)-(); (o)-(u1); (D)—1)
4. (a)-(); (b)-n); (e)~1); (d)-av)

Options :

64635081575, 1
64635081520. 2
64635081581, 3
64635091582, 4

Question Number : 61 Question Id : 64635023332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (@), (D)-v); (0)-(u); (d)—1w)
2. (a)-1); (b)-); (0)—(1v); (d)-an)
3. (a-Qv); (b)-); (e)-u1); (d)—1)
4. (@) (by~ui); (c)1); (d)—av)

Options :

64635091575, 1

64635091530. 2

64635091581. 3
64635091582, 4

Question Number : 62 Question Id : 64635023333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What refers to the stock of employee skills, knowledge and capabilities that may not
show up in a balance sheet but have significant impact on a firm’s performance?

1.  Human Resource Planning
2.  Human Resource Management
3. Human Capital

4.  Number of Employees
Options :
64635091583 1
64635091584. 2
64635091585. 3
64635091586. 4

Question Number : 62 Question Id : 64635023333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091585. 1

64635091584. 2
64635081585. 3
64635091586. 4

Question Number : 63 Question Id : 64635023334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following statements relate to orgamsational culture :

Statement I : Culture 1s the cumulative preference of some states of life and some
organized ways of dealing with basic concerns by members of a
society.

Statement II : There are vanous ways of making employees aware about the

organzation’s culture. These include stories, language, rituals,
organmzational structure and physical layout and rules and policies.

Which of the following options is correct?
1.  Statement [ 1s correct, but II 1s incorrect
2. Statement II is correct, but I is incorrect
3.  Both the statements I and II are correct

4.  Both the statements I and I are imncorrect

Options :
64635081587, 1

64635091588. 2
6463508158%8. 3
64635091530. 4

Question Number : 63 Question Id : 64635023334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081587, 1
64635081588, 2
64635081589, 3
64635081590. 4

Question Number : 64 Question Id : 64635023335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The technology advancements in the banking sector posed a challenge for the old
players in the industry. The public sector banks lagged in modernization because of the
traditional and bureaucratic banking norms that were in force. In the face of
competition, public sector banks had to hire new talent and keep an open mind about
evolving norms as per the market requirements.

Which of the following analysis/methods can help banks to identify jobs and duties of
employees as well as what kinds of people to hire for different jobs?

1.  Job evaluation
2.  Work-force Analysis
3.  Job Analysis

4.  Work-load Analysis

Options :
64635081591, 1

64635091592, 2
64635081583. 3
64635081594. 4

Question Number : 64 Question Id : 64635023335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091591. 1

64635091592, 2
64£35091593. 5
646350981594, 4

Question Number : 65 Question Id : 64635023336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Name the theory/concept/thought concerned with designing and shaping jobs to fit the

physical abilities and characteristics of individuals so that they can perform their jobs
effectively.

1.  Economics
2.  Physiology
3.  Ergonomics

4.  Psychology
Options :
64635091595, 1
646350891596, 2
64635091597, 3
64635081598, 4
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Question Numnber : 65 Question Id : 64635023336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091595. 1

64635091596. 2
64£35091597. 3
64635081593, 4

Question Number : 66 Question Id : 64635023337 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Name the human resource demand (need) forecasting techmique, which solicits
estimates of personnel needs from a group of experts, usually managers. The HRP
experts act as intermediaries, summarise the various responses and report the findings
back to the experts. The experts are surveyed again after they receive this feedback.
summarics and surveys are repeated unfil the experts’ opimons begin to agree. The
agreement reached 1s the forecast of the personnel needs.

Select the correct option :
1. Ratio-trend Analysis
2.  Regression Analysis
3.  Delphi Technique

4.  Venture Analysis
Options :
646350981558. 1
646350981600. 2
64635081601. 3
64635081602 4
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Question Numnber : 66 Question Id : 64635023337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091595, 1

64635081600. 2
64635091601, 3
64635081602, 4

Question Number : 67 Question Id : 64635023338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Match List—I with List-II ;
List—I List—II

(a) Gate keeper (1) Encourages silent or shy
members to contribute to the
discussion

(b} Supporter (1) Explores with the group 1f all
group members agree with the
decision

(¢) Consensus tester (1) Reduces tension in the group,

reconciles differences and
explores opportunities

(d) Harmonizer (v) Invites all group members one by
one 1o speak and encourages
people to participate

Choose the correct option from those given below :
1. (@), 1); (-v); (d)-(ii)
2. (ay-(); (B)-v); (0)-Q); (d)-(1m)
3. (2)-(v); (0)-Q); (e)-(ui; (d)i)
4. (@-Qv); (b)-Q); (c)-@); (d)-u1)

Options :
64635091603, 1

64635091604, 2
64635081605, 3
64E35001606. 4

Question Number : 67 Question Id : 64635023338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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L (a)-@i); (b)1); (©)—(iv); (d)iii)
2. (a)-); (b)-av); (c)-Q); (d)-(m)
3. (a-Qv); (b)-1); (e)-(n); (1)
4. (a-(v); (b)—(1); (0)-(11); (d)-(im)

Options :
646350916035. 1

64635081604, 2
64635081605. 3
646350381606, 4

Question Number : 68 Question Id : 64635023339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Transactional Analysis does NOT help in
1.  Problem solving
2. Higher social status
3.  Improved communication within the orgamsation

4.  Better leadership

Options :

64635081607, 1
646350816038, 2
64635081609, 3
646350891610. 4

Question Number : 68 Question Id : 64635023339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091607, 1

646350816083. 2
64635091603. 3
64635081610, 4

Question Number : 69 Question Id : 64635023340 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The ethical decision ‘Same Job, Same Wage’ is used under which criterion?
1. Rights
2. Utilitarianism
3. Justice

4. Culture
Options :
64635081611. 1
64635081612, 2
64635081613, 3
64635081614, 4

Question Number : 69 Question Id : 64635023340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091611, 1

64635081612, 2
64635081613. 3
64635091614, 4

Question Number : 70 Question Id : 64635023341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List—I with List-]I :

List-I List-II
(Training Need Assessment (Advantages/Merits)
Technique)
(a) Observation (1)  Questions can be modified
(b) Questionnaires (1)  Generates data relevant to
work environment
(c) Online technology (1) Inexpensive
(d) Interviews (av) Objective

Choose the correct option from those given below :
Lo (a)-); (b)—ui); (c)u); (d)—-av)
2. (a)-Q); (b)it); ()—v); (1)
3. (ay-Qu); (b)-Q); (c)-Qv); (A1)
4. (a)-v); (b)) (¢)-@); (d)—iy)

Options :

646350891615, 1
64635081616, 2
64635081617, 3
646350891618, 4

Question Number : 70 Question Id : 64635023341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (a)-@); (0)-GiD); (e)—1); (d)—Gv)
2. (@) (b)-m); (-(v); (1)
3. (a)-(u); (b)-(); (¢)-(v); (D)D)
4. (a-v); (b)-(u); (c)—1); (d)—1)

Options :
64635081615, 1

64635091616. 2
64635081617. 3
64E35001615. 4

Question Number : 71 Question Id : 64635023342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Industrial Disputes Act, 1947 has provided a machinery for settlement of industrial
disputes. Which amongst the following machinery has NOT been provided under the
Act?

1. Works Commttee

2. Collective Bargaiming

3.  National Tribunal

4.  Voluntary Arbitration
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Options :
64635091619, 1

64635091620. 2
64635081621. 3
64635081622, 4

Question Number : 71 Question Id : 64635023342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635081619, 1

64635091620. 2
64635091621. 3
64635081622, 4

Question Number : 72 Question Id : 64635023343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In most of the cases “cessation of work’, refusal to continue to work or refusal to accept
employment is called strike. Which of the following does NOT c¢ome under the form of

strike?
1.  Sit-down strike
2. Hunger strike
3.  Gherao

4.  Work-to-rule

Options :
64635091623. 1

64635091624, 2
64635091625, 3
64635091626, 4

Question Number : 72 Question Id : 64635023343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
64635081623, 1

64635091624. 2
64635081625. 3
64E3500162€. 4

Question Number : 73 Question Id : 64635023344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Match List—I with List-II :

List—1
(a) Expatriates 1)
(b) Home-country nationals (11)
(¢) Third-country nationals (1)
(d) Host-country nationals (iv)

List—I1

Citizens of the country in
which the multinational
company has 1ts headquarters

Non citizens of the countries
in which employees are
working

Citizens of a country other

than the parent or the host
country

Citizens of the countries in
which employees are working

Choose the correct option from those given below :

L (@)-(); (b)—1); ()—1v); (d)u1)

2. (@), (b)) (c)~u); (d)-{v)

3. (@-); (D)H1); (¢)~1v); (d)-1m)

4. (a)-Qv); (b)—); ()-(i); (d)-m)
Options ;

646355091627. 1
646350816238 2
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prepp

Your Personal Exams Guide

Question Number : 73 Question Id : 64635023344 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks ;: 2 Wrong Marks :
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1. (@)-@b); (B)-1); (©-(v); (d)-(i)
2. (a)p-); (b)-@); (¢)—(m); (A)-Qv)
3. (@) (@)-u); (o)iv); (d)-(i)
4. (@)-v); ()—(1); (c)-i); (d)-iii)

Options :
64635091627. 1

646350916238. 2
64635081623, 3
64635091630. 4
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Question Number : 74 Question Id : 64635023345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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In which Amendment of the Constitution, the Government of India made a pioneering
attempt to provide for ‘workers’ participation in management in industry’, by suitable
legislation in the Directive Principles of State Policy?

1. The Constitution (42 Amendment Act), 1976
2. The Constitution (41 Amendment Act), 1975
3.  The Constitution (46 Amendment Act), 1977

4.  The Constitution (40 Amendment Act), 1972

Options :
64635081631, 1

64635091632, 2
64635081633. 3
64E35001624. 4

Question Number : 74 Question Id : 64635023345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. TRAYF (40 a1 Iy AfAFT), 1972

Options :
64635091631. 1

64635091632, 2
64635081633. 3
64635091634, 4

Question Number : 75 Question Id : 64635023346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one amongst the following 1s NOT social security legislation?
1. Employees’ Compensation Act, 1923
2.  Employees’ State Insurance Act, 1948
3.  Payment of Wages Act, 1936

4.  Payment of Gratuity Act, 1972

Options :

64635081635, 1
64635081636, 2
64635081637, 3
64635081635, 4

Question Number : 75 Question Id : 64635023346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. Hel Yol SteFEm, 1936
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Options :
64635081635, 1

64635091636. 2
64635091637. 3
64635081633, 4

Question Number : 76 Question Id : 64635023347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The system of collective bargaining as a method of settlement of industrial disputes has
been adopted and provided under

1. The Industrial Disputes Act, 1947
2.  The Trade Unmions Act, 1926

3.  The Industnal Employment (Standing Orders) Act, 1946

4.  The Taft-Hartley Act, 1947

Options :
64635081639, 1

64635091640. 2
64635081641. 3
64635081642, 4

Question Number : 76 Question Id : 64635023347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091635, 1

64£35091640. 2
64635091641. 3
64635081642, 4

Question Number : 77 Question Id : 64635023348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Today’s new generation knowledge workers and professionals competing for career
advancement and ready to work longer howrs and work almost seven days a week is

called
1.  Hard working employees

2. Bondedlabour

3.  Willing slaves

4.  Forced workers

Options :
64635081643, 1

64635091644. 2
64635091645, 3
646350981646, 4

Question Number : 77 Question Id : 64635023348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091643 1

64635091644, 2
64635091645. 3
64635091646, 4

Question Number : 78 Question Id : 64635023349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Orgamsations encounter many different forces for change which may be external or
internal. Which among the following does NOT come under the external forces of
change?

1. Technological advancement
2.  Workforce diversity
3.  Change inleadership

4.  Competition in the market
Options :
64635091647, 1
646350916483 2
64635091649 3
64635091650. 4

Question Number : 78 Question Id : 64635023349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

el B soad & fore fafts S o1 I S vea €, 3 S9 S8 tuaT iaives 8 Iod
g1 FofifEa § | S19-91 Scare 988 g4 & siaia 78 emar 27

1. vrRIfer 39k
2. SSd oI Afaya
3. ga HuRae
4. SR A waegst

Options :
64635091647, 1

646350981643. 2
64635081643. 3
646350381650, 4

Question Number : 79 Question Id : 64635023350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The process for enabling employees to better understand and develop their career skills
and interests and to use these skills and interests most effectively both within the
company and after they leave the firm, 1s known as

1.  Career development

2. Career planning

3. Career management

4.  Career counselling

Options :

64635081651, 1
64635081652, 2
64635081653, 3
64635081654, 4

Question Number : 79 Question Id : 64635023350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. R Ae™
2. BRI
3. IR IS
4. BRR WL

Options :
64635081651, 1

64635091652, 2
64635091653, 3
64635081654, 4

Question Numnber : 80 Question Id : 64635023351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The term “The War for Talent” was coined by

1. McKinsey
2. T.V.Rao
3.  Uda Pareek
4.  D. Ulnch

Options :
64635081655, 1

64635081656. 2
64635091657. 3
64E35001655. 4

Question Number : 80 Question Id : 64635023351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081655, 1
64635081656. 2
64635081657, 3
64635081658, 4

Question Number : 81 Question Id : 64635023352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Cash Flow Analysis is an important financial tool for the management. Its chief

advantages are

(a) Helps in cash management

(b) Helps in external financial management
(¢) Helps ininternal financial management
(d) Discloses the movements of cash

Which of the following options 1s correct?

2.

3.

4.

Options :
64635081659, 1

64635081660. 2
64635091661, 3
64635081662, 4

(a), (¢) and (d) only
(a), (b) and (d) only
(a) and (d) only

(), (b), (¢) and (d)

Question Number : 81 Question Id : 64635023352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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64635091659, 1
64635081660. 2
64635091661, 3
64635081662, 4
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Question Number : 82 Question Id : 64635023353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The money spent for repairs of a motor car used by the business is a

.

4.

Options :
64635081663, 1

64635081664, 2
64635091665, 3

Revenue Expenditure
Capital Expenditure
Deferred Revenue Expenditure

Contingent Expenditure
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64635091666, 4

Question Number : 82 Question Id : 64635023353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.  XIoRg 3@

Options :
64635081663, 1

64635091664, 2
64635081665, 3
64635081666, 4

Question Number : 83 Question Id : 64635023354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
MM Hypothesis for capital structure 1s based on which of the following assumptions?

(a) Investors are rational and have homogeneous expectations
(b} Perfect capital market

(¢c) 100% retention of profits

(d} No taxes

Which of the following options is most appropriate?

. (a), (0),d)
2. (3, (©,@
3. (b); (o), (d)
4. (@), (), (c), (@
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Options :
64635091667, 1

646350916638 2
64635081663, 3
64635081670. 4

Question Number : 83 Question Id : 64635023354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

UST ST 1 TH TH U edHT (aiferad J 9 5 aradisii W S 82
@) Pave afhe § 8k I v THH T 8

(b) ST Yol SIom

() TR 100% SELRU

(@ DRI

fFrgfeiRed e o 9 9aiite Iuged i9-91 82
1. @99 (a), (b), (d)
2. 9@ (a), (), (D
3. @Fd (), (c), ()
4. (a), (b), (¢c), (d)

Options :
64635091667, 1

646350816638 2
64635091663. 3
64635081670, 4

Question Number : 84 Question Id : 64635023355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The DuPont approach breaks down the earnings power on the shareholders’ book value
(RoE) as

1.  Net Profit Margin x Total Assets Turnover x Equity Multiplier
2. Total Assets Turnover x Gross Profit Margin x Debt Ratio
3. Total Assets Turnover x Net Profit Margin

4.  Total Assets Turnover x Gross Profit Margin x Equty Multiplier

Options :
64635091671. 1

64635081672, 2
646350981673. 3
64635081674. 4

Question Number : 84 Question Id : 64635023355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wm&m&w{w%mmmﬁmﬁm@@

1. oo ail « goa onfemT emg « sfed e
2. A SRl 3T x Tbe ATH A x FBUT X
3. oo iyl AT « fFaa Ay \ifeR

4, P MR AT x Ypd AT Ao x it qoTics

Options :
64635091671. 1

64635081672, 2
B4E35001672. 3
64635081674, 4

Question Number : 85 Question Id : 64635023356 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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AB Ltd. manufactures filing cabinets. For the current year, the company expects to sell
4,000 cabinets involving a loss of Rs. 2,00,000. Only 40 percent of the plant’s normal
capacity i1s being utilised during the current year. The fixed costs for the year are
Rs. 10,00,000 and fully variable costs are 60 percent of the sales value. What 1s the
break- even point in terms of sales value?

1. Rs.25,00,000
2. Rs.20,00,000
3. Rs. 16, 66,667

4. Rs.30,00,000
Options :
64635091675, 1
64635081676, 2
64635081677. 3
64635081675, 4

Question Number : 85 Question Id : 64635023356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U & foiftes wisfim FiHc S0 81 a9 a8 § St BT 4,000 S 9= F 39K §
fORITR TR/ 2,00,000 FUA HT UIST TFT| TG T & QRIS YT B THFT &HAT F 40% HT &
ITANT g w1 &1 9¥ 3t Fua @ 10,00,000 T 8 SR qulaar uikadt ama fiwa g @
60% B | fiepd Ied1 & TgH | ard- e Rufa &i=-3t giii?

1. 2500000370
2. 20,00,000 370
3. 16,66,667 3Ud

4. 30,00,000 373

Options :
64635091675, 1

64635081676, 2
64635081677. 3
64635081673. 4
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Nuinber : 86 Question Id : 64635023357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which are the asset-related covenants adopted by financial institutions while granting a

loan?

(a)

(b)

(c)

(d)

Maintenance of working capital position in terms of a mimmum current ratio

Prohibition on disposal of promoters’ shareholding

Restriction on ¢reation of further charge on asset

Ban on sale of fixed assets without the lender’s concurrence

Which one of the following options is most appropriate?

Options :

1. (a), (0, (d)

2. (@,

3. (@, @

4. (b),(c), (D)

64E55091679. 1
64635091680. 2
64635081681. 3
646350916382, 4

Question

Number : 86 Question Id : 64635023357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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L (@, () 3R

2. (RO

3. (23R

4. (1), R

64635091679 1
64635081680. 2
64635091681. 3
64635081682, 4

Question Number : 87 Question Id : 64635023358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If actual production of units are lower than the budgeted level of production, which of
the following costs would be lower than the budgeted costs?

Options :

1. Vanable cost per unmt
2.  Total varniable cost
3. Total fixed cost

4. None of the above

64E55091683. 1
64635091684. 2
64635081685. 3
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64635091686, 4

Question Number : 87 Question Id : 64635023358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gfe oIEdl F1 TRadS TR IIET & ol TR A Foae 21 Fofif@a 3 4 9 @ 9
o arTa ¥ FgaR gii?

1. i 3T oREdl @rrd
2. P UNGd ar|
3. od-gdara
4. TWRigd H A IS T

Options :
646350916385, 1

64635091684. 2
64635081685. 3
64635091656. 4

Question Number : 88 Question Id : 64635023359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When prices are rising, the LIFO produces
1.  Highest cost flow and lowest inventory
2.  Lowest cost flow and highest inventory

3.  Highest cost flow and highest inventory

4.  Lowest cost flow and lowest inventory
Options :
64635091687 1
646350916883 2
64635091689 3
64635091690, 4

Question Number : 88 Question Id : 64635023359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635081687, 1

646350916838. 2
6463508168%9. 3
64£35081690. 4

Question Number : 89 Question Id : 64635023360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Study the data given below :
Net profit for the year ending 31-12-17

after preference dividend and tax — Rs. 1.00,000
No. of equuty shares as on 1-1-2017 — 50,000

No. of 12% convertible debentures
of Rs. 100 each — 1,00,000

Each debenture 1s convertible into 10 equuty shares. The tax rate applicable to the
company 1s 30%.

The diluted earning per share will be

1. Rs.3.06
2. Rs.2.00
3. Rs.3.68
4.  Rs.4.40

Options :
64635091691. 1

64635091632, 2
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B4E35091692. 3
64635081694. 4

Question Number : 89 Question Id : 64635023360 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

fFrofafeaT siies! o s o

STYHIAG TTHIT 3R T &

U 31-12-17 & THIW B1F a1 9y & forg e a —> 1,00,000 T
1-1-2017 1 RUTER 3l IIR <t J&T —> 50,000

100 30 Ufd SR & 12% uiad-ia fedar @t 9w — 1.00,000
A% fEaER 10 3@t Rt & uftadia 81 ST W 30% P B R AFLE 2

yfa 2R T 3ma gntt
. 3.06%0
2. 20%W
3. 363%W
4. 440T0

Options :
64635091691, 1

64635091632, 2
64635091633. 3
646350916394. 4

Question Numnber : 90 Question Id : 64635023361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Depreciation charged on fixed assets in the Funds Flow Statement 1s/are
(a) Source of funds

(b) An application of funds

(¢) Sources of funds in himited sense

(d) Added back to the operating profit to find out funds from operations
Which one of the following options 1s correct?

1. ({(a)and(d)only

2. (b) only

3.  (d only

4. (c¢)and (d)only
Options :

646350816%395. 1
B4E3500169€. 2
64635091637. 3
646350916338 4

Question Number : 90 Question Id : 64635023361 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks : 2 Wrong Marks : 0
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(b) TSR ST SrgrarT
(c) diffa et a =i e
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1. Hgd(a) 3MR(d)
2.  Fad(b)
3.  ad(d)
4.  HIA(c) M ()

64635091635. 1
B4E35001696. 2
64635081637. 3
64635081633. 4

Question Number : 91 Question Id : 64635023362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
International Fisher Effect suggests that a home currency will

Options :

1.

Appreciate if the current home interest rate exceeds the current foreign
interest rate

Depreciate if the current home interest rate exceeds current foreign interest
rate

Appreciate if the current home inflation rate exceeds the current foreign
inflation rate

Depreciate if the current home inflation rate exceeds the current foreign
inflation rate

646350816399. 1
64635081700, 2
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64E35081701. 2
64635081702. 4

Question Number : 91 Question Id : 64635023362 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

ZTHIAE HR WHIT I8 ST € b T o3t —
1. Pl ot € AR T dm e o Trg Rt o R 2 ol S R
2. o1 IAHEE oial § Al 919 5 1S X 919, [aeRiT T &% § 311w gl 2l
3, ﬁgﬁq@éﬁ%qﬁﬂm@qgﬁmﬂﬁmmﬁﬁsﬁgﬁmﬁaﬁm
gl gl

4 %&wm%ﬁwﬁmamﬁﬁmﬂ%aﬁm
|

Options :
64635091695, 1

64635081700, 2
64635091701. 3
64635081702, 4

Question Number : 92 Question Id : 64635023363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the payoff at maturity of a long call below the strike price?
1. Inthe money
2. Zero
3.  Greater than zero

4.  Out of money

Options :
64635091703 1

64635081704, 2
64635081705, 3
64635081706, 4

Question Number : 92 Question Id : 64635023363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091703. 1

64E35081704. 2
64635081705, 3
64635081706, 4

Question Number : 93 Question Id : 64635023364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which one of the following 1s NOT an integral part of credit policy of a business firm?
1.  Credit standards
2. Credit terms
3.  Collection policy

4.  Credit rating
Options :
64635091707, 1
64635091708, 2
64635091709, 3
64635091710, 4

Question Number : 93 Question Id : 64635023364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

Frafafed § 8 o 91 el fiem9 B o1 Hise uiiesht o1 S 3iT =8 g7
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Options :
646350981707. 1

64635091708. 2
64635081703. 3
646350981710. 4

Question Number : 94 Question Id : 64635023365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the one-month forward price of crude il trading at $§ 70 a barrel when annual
interest rate 1s 6 percent and monthly storage cost amounts to § 0.60?

1. $69.75
2. $T0:2>
3. $70.95
4. §$69.05

Options :

64635091711, 1
64635081712 2
64635081713. 3
646350891714 4

Question Number : 94 Question Id : 64635023365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

$ 70 Ui SR W T UTd B ¢iST B U A9 BIRas W59 51 T STaie Jiive <6l &2 6
yferra 3R A1 HUSRU &I $ 0.60 17

1. $69.75
2. §$7025
3. $709
4.  $69.05

Options :
64635091711. 1

64635091712, 2
64635081713. 3
64635081714. 4

Question Number : 95 Question Id : 64635023366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The credit of taking portfolio theory from abstraction to reality goes to

1.  Harry Markowitz
2. Willhiam Sharpe
3.  Jack Trepnor

4.  Eugene Fama

Options :
64635091715, 1

64635091716. 2
64635091717. 3
64635081713 4

Question Number : 95 Question Id : 64635023366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. fafomw =rd
3. P TR
4.  GioF BTHI

Options :
64635081715, 1

646350981716. 2
64635081717. 3
646350817138. 4

Question Number : 96 Question Id : 64635023367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Firm A4 acquirers firm B. Market price of shares of B 1s ¥20 per share and EPS 1s 5.
For an exchange ratio of 1.5 : 1, what was the P/E ratio used in acquiring firm B?

1. 4
2.
3. 6
4.  2.67

Options :

64635081715, 1
64635081720. 2
64635081721. 3
64635091722, 4

Question Number : 96 Question Id : 64635023367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 4
2, 3
3. B
4., 267

Options :

64635081715, 1
64635081720. 2
64635081721, 3
64635081722, 4

Question Number : 97 Question Id : 64635023368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A large firm operating over a wide geographical area can speed up its collection by
1. Concentration banking
2.  Centralised collection
3.  Playing the float

4.  Discretionary payment

Options :

64635081723. 1
64635081724, 2
64635081725. 3
64635081726, 4

Question Number : 97 Question Id : 64635023368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091725. 1

64635081724. 2
B4E35091725. 3
64635081726, 4

Question Number : 9§ Question Id : 64635023369 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks ;: 2 Wrong Marks ;

What i1s the market price per share (face value = T100) as per Walter model if the
profitability rate of the company 1s 16 percent, payout ratio 1s 80 percent and the cost of
capital 15 10 percent?

1. 169.20
2. T 182.90
3. %179.20
4. T 180.90

Options :

64635081727, 1
64635081728, 2
64635081729. 3
64635081730, 4

Question Number : 98 Question Id : 64635023369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 16920 94
2. 18290 T
3. 179.20 TW
4. 18090 ¥7d

Options :
64635081727, 1

64635081728. 2
64635081729. 3
64635091730. 4

Question Number : 99 Question Id : 64635023370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If nisk-free return 1s 8 percent and the expected return on a market portfolio 1s 12
percent, the required return on a stock is 15 percent. What 1s stock beta?

L. 005
2
3. 125
4. 24D

Options :
64635091731. 1

64E35091752. 2
646350981733. 3
64635081734. 4

Question Number : 99 Question Id : 64635023370 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 075
2. V15
3 925
4. 2.75

Options :
64635091731. 1

64635091732, 2
64635081733. 3
64635091734, 4

Question Number : 100 Question Id : 64635023371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A company’s share 1s currently selling for 50 and 1s expecting a dividend of I3 per
share after one year which 1s expected to grow at 8% indefinitely. What is the equity
capitalisation rate?

1. 9 percent

2. 17 percent
3. 14 percent
4. 24 percent

Options :

64635081735, 1
64635081736, 2
64635081737. 3
64635081733, 4

Question Number : 100 Question Id : 64635023371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. oyfawd
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3. 14 ¥fawrd
4. 24 yfawd

Options :
64635081735, 1

64635081736. 2
64635081737. 3
64E35081728. 4

Question Number : 101 Question Id : 64635023372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which out of the following 1s NOT true about consumer satisfaction?
1.  Consumer satisfaction 1s a post consumption phenomenon

2.  Consumer satisfaction is a mild, positive emotional state resulting from a
favourable appraisal of a consumption outcome

3.  Consumer satisfaction results from a cogmitive appraisal

4.  Consumer satisfaction is not different from consumer loyalty. Both are
same concepts

Options :
64635081739, 1

64635081740. 2
64635091741. 3
64£35081742. 4

Question Number : 101 Question Id : 64635023372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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64635091739. 1
64£35081740. 2
64635081741. 3
64635081742, 4

Question Number : 102 Question Id ; 64635023373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The mistake of paying more attention to the specific products of a company offers than
to the benefits and experience produced by these products is known as

4.

Options :

Marketing phobia
Marketing trivia
Marketing myopia

Marketing inertia

64635091743. 1
64£35081744. 2
64635091745, 3
64635081746. 4

Question Number : 102 Question Id ; 64635023373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081743, 1
64635081744 2
64635081745, 3
646350891746, 4

Question Number : 103 Question Id : 64635023374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following statements relate to marketing :

Statement I : “For any business enferprise there are two and only two basic
functions : marketing and innovation. These two produce results; all
the rest are costs.”

Statement II : “The product concept of marketing holds that business can be
managed by maximisation of production and the resultant lower unit
cost and low price.”

Which of the following options 1s correct?
1. Statement I is correct, but II is incorrect
2. Statement I i1s correct, but I 1s incorrect
3.  Both the statements [ and II are correct

4.  Both the statements I and I are incormrect

Options :
64635091747, 1

64635091743. 2
64635091749, 3
64635091750. 4
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Question Number : 103 Question Id : 64635023374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frgfeiea sy fiuve @ 949fta 21
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3. $YF-1 AR FHYF-11 g & 2

4.  HYT-1 ARFYF-I1 2F1 Tad B

Options :

64635081747 1
64635081748, 2
64635081749, 3
64635081750, 4

Question Number : 104 Question Id : 64635023375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ; No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Following are two statements with regard to product life cycle (PLC) :

Statement I : Product sales pass through distinct stages of PLC, each posing
different challenges, opportunities and problems to the seller.

Statement [I : A company’s positioning and differentiation strategy must change as
its product, market and competitors change over the product life
cycle.

Which of the following options is correct?
1. Statement is cormrect, but II 1s incorrect

2.  Statement II is correct, but I 1s incorrect

3. Both the statements I and II are correct

4.  Both the statements I and 11 are incorrect

Options :
64635091751, 1

64635081752, 2
64635091753. 3
64635081754. 4

Question Number : 104 Question Id : 64635023375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.  ®YF-1 Te1 g, dforT HY=-11 7Terd Bl
2. Y-l FEl ¢ e HyF-1Twa Bl
3. FYF-I IR BYF-1I G T B

4.  HYF-1 AR PUE-11 T Tad B

Options :
64635091751. 1

64635081752, 2
64635091753. 3
64635081754, 4

Question Number : 105 Question Id : 64635023376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A firm’s competitive advantage over its competitor 1s best described by the

1.  Difference between buyers’ willingness to pay (WTP) and suppliers’
willingness to sell (WTS) 1s greater than the competitor’s difference
between the WTP and WTS

2.  Combined valuation of businesses more than the individual sum of
businesses

3. Winner businesses win more than the loser’s lose

4,  Supenority of the corporate strategy over its business strategy

Options :
64635081755, 1

64635081756. 2
64635091757. 3
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64635091758, 4

Question Number : 105 Question Id : 64635023376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091755, 1

64635081756. 2
64635081757. 3
646350817538, 4

Question Number : 106 Question Id : 64635023377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Re-engineering, a radical redesign of business processes, 1s an essential and integral to
which of the following strategies?

1.  Expansion strategy
2.  Diversification strategy

3.  Growth strategy

4.  Turnaround strategy
Options :
64635091759. 1
64635091760. 2
64635091761. 3
64635091762. 4

Question Number : 106 Question Id : 64635023377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081759, 1
64635081760. 2
64635081761, 3
64635081762, 4

Question Number : 107 Question Id : 64635023378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List—I with List-II :

List—I
(a) Propitious niche (1)
(b) Strategic window (11)
(¢) Mission (111)
(d) Business strategy (1v)

List-11

It focusses on improving the
competifive position within
specific industry that the
business unit serves

An extremely favourable
market situation so well suited
to the firm’s competitive

advantage that other
organisations are not likely to

challenge it

A unique market opportunity
that 1s available only for a
particular time

It is an objective and
measurable common thread to
highlight and focus the energy
of everyone in the direction
that the management believes
1s the best for the best

Choose the correct option from these given below :

L (@-v); 0)-@); (e)-(ii); (-G
2. (a)-(); (b)-i); (c)-(iv); (d)iii)
3. (a)-ii); (b)-Gv); (c)-(); (DD
4. (a)-(i); ()iii); ()-Gv); (1)

Options :
64635091763, 1

646350981764, 2
B4E35001765. 3
64635091766. 4
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Question Number : 107 Question Id ; 64635023378 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes

Single Line Question Option : Ne Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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1. (a-v); (b)-); (c)-Qit); (d—11)

2. (a)-Q); (b)-Qai); (e)-v); (d)—{ii)

3. (a)-(ii); (b)-v); (o)-Gi); (d—{)

4. (a)-Qu); (b)-(ui); ()-(v); (1)

Options :
64635081763, 1

64635081764, 2
646350981765, 3
B4E350017€E. 4

Question Number : 108 Question Id : 64635023379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following approaches was added by Quinn to the Mintzberg’s modes of
strategic decision making?

1. Enfrepreneurial approach

2.  Logical incrementalism approach
3. Adaptive approach

4.  Plannming approach

Options :

646350891767, 1
64635081768, 2
64635081769, 3
646350891770, 4

Question Number : 108 Question Id : 64635023379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

firgef & wrRifae Roles & T § FPafef@a 7 2 &5 1 e B gr sier mn?
1.  THEdom
2. diioe 3ia IRPE TSI (difipd Spinciersd THIR)

3. IR TPBI
4. SMTrSHT RSB

Options :
64635091767. 1

64E35081768. 2
64635091769. 3
64635081770. 4

Question Number : 109 Question Id ; 64635023380 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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According to BCG matiix, for which one of the following positions of SBU the firm
should decide to curtail losses by divesting?

1. Star
2. Question mark
3.  Cashcow

4. Dog

Options :
64635081771, 1

64635081772, 2
B4635081773. 3
64635081774, 4

Question Number : 109 Question Id : 64635023380 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1. <t o Bew ¥ oER Ta. €. g, 7 Profifea § 3 fre fRufy ¥ fio o o) g s
g+ B Skl B3 1 fAufg 3T =nfgu?

. ®|R

2. wyfg
3. SUDR
4. SR

Options :
64635091771, 1

64635081772, 2
646350981773. 3
64635081774, 4

Question Numnber : 110 Question Id : 64635023381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List-I with List-II :

List—I List—II

(a) Productline (1)  Total number of items under
each product/brand in the line

(b) Depth of product (i1) Number of products/brands in
the line

(¢) Width of product mix ()  Group of closely related
products

(d) Length of product line (iv)  Number of product lines

Choose the correct option from those given below :

L. (a-w); (b)-); (©)-(v); (D)
2. (a)-Qu); (b)-(v); (e)-(n); (D)D)
3. (@-@v); (b)-@); (0)-(i); (dD)ii)
4. (a)-1); ()W) (e)(u1); (d)-Gv)

Options :

64635081775, 1
64635081776, 2
64635081777, 3
64635081778, 4

Question Number : 110 Question Id ; 64635023381 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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. (@)-it); (b)-(); (0)w); (d)(i)
2. (aH); (b)-av); (¢)-11); (1)
3. (a-av); (b)-); (o)—); (d)-(i)
4. (a-w); (0-Q); (e)Hu1); (d)-v)

Options :
64635091775. 1

64E3508177€6. 2
64635081777. 3
64635081773, 4

1)

(1)

(iii)

(v)

T H TS ITG/SS
% Sfid Hal @1 pa

T R IIl/SS1 Bl
NP TEg AT B
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Question Number : 111 Question Id ; 64635023382 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes

Single Line Question Option : Ne Option Orientation : Vertical
Correct Marks ;: 2 Wrong Marks :

Four distinctive service characteristics greatly affect the design of marketing program
for services. The appropriate combination is

1. Intangibility, inseparability, variability and touchability

2. Intangibility, inseparability, variability and perishability

3.  Inseparability, vanability, perishability and touchability

4. Vanability, perishability, intangibility and touchability

Options :
64635081779, 1

64635081780. 2
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64E35091781. 3
64635081782. 4

Question Number : 111 Question Id ; 64635023382 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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1. S, S 3R Sl
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Options :
64635081779, 1

64635081780. 2
64635091781. 3
64E35081782. 4

Question Number : 112 Question Id : 64635023383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Evaluate the statements according to Aaker model of defining brand identity/equity :

Statement I : A particularly important concept for building brand equity 1s brand
identity that represents what the brand stands for and promises to
customers.

Statement II : The core identity is most likely to change as the brand travels to new
markets and products.

Which of the following options 1s correct?
1.  Both the statements are correct
2.  Both the statements are incorrect
3.  Statement (I) is correct while Statement (II) 1s incorrect

4. Statement (I) is incorrect while Statement (II) 1s correct
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Options :
64635091783, 1

64635091784, 2
64635081785. 3
64635081786. 4

Question Number : 112 Question Id : 64635023383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ; No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
646350917385, 1

64635081784, 2
64635081785, 3
646350817586. 4

Question Number : 113 Question Id : 64635023384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Two friends are on WhatsApp discussing a holiday plan. Immediately, Uber pops up
within WhatsApp to help book a nide and provide an estimate. This 1s known as

1. Contextual digital marketing
2. Direct mail marketing
3.  Mail order marketing

4.  Telemarketing

Options :

64635091787, 1
64635081788, 2
64635091789, =
64635081790, 4

Question Number : 113 Question Id ; 64635023384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

<1 o B1eHuy R gl B ASAT R == a1 © € g BIcHey TR TR 9184 §9 B @R
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Options :
64635081737, 1

64635091788 2
64635081789. 3
64635081730. 4

Question Number : 114 Question Id : 64635023385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Singapore Airlines offer personalised service at airport, excellent service in flight,
menu of customer’s choice, personal TV ete. It is an example of

1.  Functional brand
2. Justified brand
3. Image brand

4.  Experience brand

Options :
64635081791, 1

64635081792, 2
64635081783. 3
64635081794, 4

Question Number : 114 Question Id : 64635023385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091791, 1

64635081792, 2
64635091733. 3
64635081794, 4

Question Number : 115 Question Id : 64635023386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Entering a foreign market by developing foreign-based assembly or manufacturing
facilities 1s known as

1. Exporting
2.  Licensing
3.  Joint ownership

4.  Direct investment

Options :
64635081795, 1

6463509817396. 2
64635081787. 3
646350817938. 4

Question Number : 115 Question Id : 64635023386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091795 1

64635091736. 2
64635091737. 3
646350817938, 4

Question Number : 116 Question Id : 64635023387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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If M. X pays a well-known fashion innovator such as Calvin Klein for the night to use
its name on his apparel and accessories, then Mr. X is using which type of branding?

1. Co-branding
2. Private branding
3. Manufacturer’s branding

4.  Licensed branding

Options :
64635091799, 1

64635091800. 2
64635091801. 3
64635081802, 4

Question Number : 116 Question Id : 64635023387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081795, 1
64635081800. 2
64635081801, 3
64635091802, 4

Question Number : 117 Question Id : 64635023388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The ratio between customer’s perceived benefits and the resources they use to obtain
those benefits 1s known as

1. Customer satisfaction
2.  Customer value
3.  Customer retention

4.  Customer loyalty
Options :
64635091803. 1
64635091804. 2
64635091805. 3
64635091806. 4

Question Number : 117 Question Id : 64635023388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081803. 1
64635081804, 2
64635091805, 3
64635091806, 4

Question Number : 118 Question Id : 64635023389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fine speciality store falls into
1.  High-mark up, lower volume group
2. High-mark up, higher volume group
3.  Low-mark up, lower volume group

4. Low-mark up, higher volume group

Options :
64635081807 1

646350918038. 2
6463509180%9. 3
64655081510. 4

Question Number : 118 Question Id : 64635023389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1. S AWp-3Y, Ay smaa 9g
2. O HD-3(0, IR AT IHG
3. o ARs-em, R SmaeH IHg

4. g O-3u IR SdH I8

Options :
64635091807. 1

6463508180838. 2
64635081803. 3
64635081510. 4

Question Number : 119 Question Id : 64635023390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following involves selling at a loss to gain access to a market and
perhaps to drive competition?

1.  Persistent dumping

2. Predatory dumping

3.  Reverse dumping

4.  Sporadic dumping

Options :
64635091811, 1

64635091812. 2
64635091813. 3
646355081514, 4

Question Number : 119 Question Id : 64635023390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fofted ® 9 fow axg & ure R [{uve g% uge iR Imag wiawast & fore g1 Sge) s
e 82

Options :
64635091611. 1

646350981a81z2. 2
64635091813. 3
64635091814. 4

Question Number : 120 Question Id : 64635023391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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An airline offening special lounge for waiting is an example of which one of the
following differentiations of the service offer?

1.  Differentiation through special constituents
2.  Differentiation through the experience
3.  Differentiation through brand image

4.  Differentiation through pricing
Options :
64635091815. 1
64635091816, 2
64635091817. 3
64635091818. 4

Question Number : 120 Question Id : 64635023391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091815. 1

64635081816. 2
64E35081817. 3
6463509181838, 4

Question Number : 121 Question Id ; 64635023392 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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As a newly appointed marketing manager of a firm, you have been asked to determine
if a special Point-of-Purchase (POP) display causes the purchase of the product on

cisplay. What type of research design will be needed?
1.  Exploratory
2.  Descriptive
3.  Experimental

4, Normative

Options :
6463509161%5. 1

64E35091820. 2
64635081821. 3
64635081822, 4

Question Number : 121 Question Id ; 64635023392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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1. SOYUTHD
2. qUiHTES
3.  TRiguTEHS
4. fame

Options :

6463508181%5. 1
64635081820. 2
64635081821, 3
64635091822, 4

Question Number : 122 Question Id : 64635023393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Exponential distribution comprises which of the following characteristics?
(a) Itis discrete distribution

(b) Itisa family of distibutions

(¢) Itis skewed to the left

(d} The x values range from zero to infinity

Which one of the following options is most appropriate?

1. (a),(b),(c)and (d)
2. (b), (c)and (d)
3. (¢)and (d)

4.  (b)and (d)
Options :
64635081823. 1
646350981824. 2

64E3509182%. 3
64635081826. 4

Question Number : 122 Question Id ; 64635023393 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

RuEiD 27 A Frofi@a 8 F S- fRdvar e 22
(2) T A I Tl &

(b) Tl &S TRAR 3

) TeTRAHIRgSae

@) T oFaae g g

Fofafaa d | oF-91 fdew 9aiite I0ge o7

L (@, @), (© R
2. (), @©IN@

3. (©)3R(@

4. (b) 3R

Options :
64635091623, 1

64635091824. 2
64635081825. 3
64635081526. 4

Question Number : 123 Question Id ; 64635023394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks ;: 2 Wrong Marks :

The correlation coefficient 1s the of two regression coefficients.

1. Geometric mean

2.  Anthmetic mean

3. Harmomc¢ mean

4. Median

Options :
64635081827. 1

64635091828. 2
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64E35091829. 3
64635081830. 4

Question Number : 123 Question Id : 64635023394 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Neo Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

e UMD &l THSA 0TD| BT Srar B
1. SOiedE A
2. S{BIUIT A
3. Tforg @
4,  HITE®T
Options :

6463550981827. 1
64635081828. 2
64635081829. 3
64E35091820. 4

Question Number : 124 Question Id : 64635023395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following modules is NOT a part of a typical ERP system?
1.  The Corporate Management (CM) Module
2. The Asset Management (AM) Module

3.  The Human Resource (HR) Module

4,  The Project System (PS) Module
Options :
64635091831. 1
64635091832 2
64635091833. 3
64635091834. 4

Question Numnber : 124 Question Id : 64635023395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635081821, 1
64635081832, 2
64635081833, 3
646350091834, 4

Question Number : 125 Question Id : 64635023396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Read the following regarding PERT and CPM :
(a) PERT 1s probabilistic in nature and CPM i1s deterministic in nature.

(b) PERT 1s most suitable for new as well as old projects but CPM 1is of great value
for projects that are repetitive.

(¢) PERT focuses primarily on time element and aftaches lesser significance to the
cost. On the confrary, the CPM puts strong emphasis on cost.

(d) PERT i1s activity-oriented and CPM 1s event-oriented.
Which one of the following options is most appropriate?

1. {(a)and(d)

2. (a),(c) and (d)

3. (), (b),(c)and (d)

4,  (a)and (c)

Options :
646350916835. 1

64635081836. 2
64635091837. 3
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64635091838, 4

Question Number : 125 Question Id : 64635023396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. a9 (a) 3R ()

2. a4 (), () 3R (d)

3. (@), (b),(c) 3R (d)
4. (2) 3R ()

Options :
64635091835, 1

64635091836. 2
64635081837. 3
64635091833, 4

Question Number : 126 Question Id : 64635023397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following statements is true?

1.  The Spearman correlation coefficient 1s a measure of the association
between two interval variables.

2. The Pearson correlation coefficient 1s designed to capture the extent of
linear association between variables.

3. Inregression analysis, the dependent variable is treated as a fixed variable,
while the independent variable 1s random.

4,  The Pearson correlation coefficient can range from+2.0 to —-2.0.

Options :
64635091635. 1

64£35091840. 2
646355081841. 3
64635081842, 4

Question Number : 126 Question Id ; 64635023397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

frofeiaa o 9 - oy w8 27
1. TR SgeEy TN g AR IXi & d & Jey B g gl
2. i oSy quie TR & diY Y6 IEY ) 55 @ 919 & e ST e |

3. ?wm-ﬁmmmmmm%mmmuﬁﬁﬁm
|

4, Oigds ggdey Ui +2.0 ¥ 2.0 9% & Ghar 2|

Options :
64635091839, 1

64635091840. 2
64635091841. 3
64£35091842. 4

Question Number : 127 Question Id : 64635023398 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following statistical techniques should be used when you wish to examine
the association between two nomunal variables?

1.  Multiple regression analysis
2.  Simple correlation coefficient
3. Chi-square confingency test

4.  Pearson correlation coefficient

Options :
64635091645, 1

64635091844. 2
64635081845. 3
64635081546, 4

Question Number : 127 Question Id ; 64635023398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks ;: 2 Wrong Marks :

gfe 3y g sl I & d9 a9 B o9 FH 9% € O 39 fou i A ¥ fey
iR ao-1 &1 FaIT i6hal STem?

1. g 9HEE Ay
2. HHR guHEd oD
3. OR-TRERPIcod o
4. o SE9EsyY oS

Options :
64635091645, 1

64635091844. 2
64E3509184%. 3
64635081546, 4

Question Number : 128 Question Id ; 64635023399 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks : 2 Wrong Marks :
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Respondents of a recent sample survey provided names of friends they thought would
be likely users of a new product. These friends were contacted, completed a survey, and

asked to supply names of other likely users. Which method of sampling has been used
in this survey?

1. Judgemental

2.  Snowhball

3. Expert

4,  Quota
Options :

64655091847. 1
64635091843. 2
64635091843. 3
64£35091850. 4

Question Number : 128 Question Id : 64635023399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

grd A U U e uiacxf gderur & Savemist | 3mm I FE @1 A feon o 95 AR A
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1. SoMcd
2. WiEId
3. TR
4. DI

Options :
64635081847, 1

64635091843. 2
64635091849. 3
64635081850, 4

Question Number : 129 Question Id : 64635023400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Indicate the correct answer for the combination from the following regarding the
conditions for the applicability of a binominal distribution :

(a) There are » independent trials
(b) Each trial has only two possible outcomes
(¢) The probabilities of two outcomes do not remain constant

(d) The trials are independent

Which of the following options 1s correct?

1. (a), (b)and(c)
2. (a), (¢)and (d)

3. (a),(b)and(d)
4. (b),(c)and (d)

Options :
64635081851, 1

64635091852 2
64635091853. 3
64635091854. 4

Question Number : 129 Question Id : 64635023400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (a), (b) R (0)

2. (a),(© 3R

3. (a), (®) R (@)

4. (b), () 3R ()

Options :
64635091651. 1

64£35091852. 2
64635081853. 3
64635081554, 4

Question Number : 130 Question Id ; 64635023401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks ;: 2 Wrong Marks :

For a situation where 100 misprints are distributed randomly throughout the 100 pages

of a book, the probability that a page selected at random will contain at most one
misprint will be

1. 0.724
2. 0728
3. 0.732
4.  0.736

Options :
64635091655. 1

64635091856. 2
64E35091857. 2
64635091858. 4
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Question Number : 130 Question Id : 64635023401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ut fRufa # o181 {5t Tae & 100 UF1 6 aRf<5® U 9 100 YEU-GI9 &I fadid H e
1§ | AEeS® ¥0 9 9a-d {59 9§ # U@ gEU-GIN 815 &1 9R1aH foramt grit?

1. 0724
2. 0.728
3. 0732
4. 0.736

Options :
64635091855, 1

64635091856. 2
64635081857. 3
64635091853, 4

Question Number : 131 Question Id : 64635023402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

India’s Trade Policy, 201520 stipulates to raise India’s share in world exports to—
1. 5.0 percent
2. 2.5 percent
3. 3.5 percent

4. 4.5 percent
Options :
6463509185%9. 1
64635091860. 2
64635091861. 3
64635091862. 4

Question Number : 131 Question Id : 64635023402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 5.0 ufaa

2. 2.5ufded

3. 3.5 yfdee

4. 4.5 =M
Options :

6463508185%9. 1
64E350918€0. 2
64635091861. 3
64635091862. 4

Question Number : 132 Question Id ; 64635023403 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Balassa Index 1s often used as a tool to measure the

1.  Relative trade performance of individual countries in particular
commodities

2. Comparative cost advantage of nations
3.  Product life cycle for different commodities

4.  National competitive advantage
Options :
64635091863. 1
64635091864. 2
64635091865, 3
64635091866. 4

Question Number : 132 Question Id ; 64635023403 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091863, 1

64635091864. 2
64635091865. 3
64E350018EE. 4

Question Number : 133 Question Id : 64635023404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
John Dunming argued that FDI is attracted because of unique advantage of

1.  Firms seeking to establish a dominant market presence
2. Product life cycle advantages
3.  Ownership, location and infernalisation

4.  Market imperfection

Options :
64635091867, 1

646350918638. 2
64635081863. 3
64£35091870. 4

Question Number : 133 Question Id : 64635023404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091667. 1

64E350018E8. 2
64635091869. 3
64635081870. 4

Question Number : 134 Question Id ; 64635023405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following institutions 1s known as the ‘soft loan window’ of the World
Bank?

1. International Monetary Fund
2.  International Development Agency
3. International Finance Corporation

4.  Asian Development Bank
Options :
64635091871. 1
64635091872, 2
64635091873. 3
64635091874 4

Question Number : 134 Question Id : 64635023405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091671. 1

64635081872. 2
64635091873. 3
64635091874, 4

Question Number : 135 Question Id : 64635023406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following institutions i1s responsible for the execution of the India’s
import-export policies?

1. Chuef Controller of Imports and Exports

2.  Federation of Indian Export Organisations
3.  Export Promotion Councils and Commodity Boards

4.  Director General of Foreign Trade (DGFT)

Options :
64635081875, 1

64635091876. 2
64635091877. 3
646350981873. 4

Question Number : 135 Question Id : 64635023406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091675, 1

B4E35001876. 2
64635081877. 3
64635081873 4

Question Number : 136 Question Id ; 64635023407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following invalidates informal persuasions to boycott China imported
goods?

1.  Plunlateral agreement
2. Protection through tariffication
3.  National treatment rule

4.  Most favoured nation principle

Options :
64635091675, 1

64E35091880. 2
64635081881. 3
646350981882 4

Question Number : 136 Question Id ; 64635023407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091675. 1

64635081880. 2
64£350018&81. 3
64635091882. 4

Question Number : 137 Question Id ; 64635023408 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation ; Vertical

Correct Marks ;: 2 Wrong Marks ;
Which of the following institutions prepares and publishes FDI confidence index
annually?

1. TUNCTAD

2. WTO

3. A.T. Kearney

4. MSCI

Options :
646350916385. 1

64635091884. 2
64E35091885. 2
64635091856. 4

Question Number : 137 Question Id ; 64635023408 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
646350916385. 1

646350981884. 2
64635091885. 3
646355081886. 4

Question Number : 138 Question Id : 64635023409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A specific category of information system serving middle managers by providing
reports on the organization’s current performance is called

1. MIS
2. TES
3. DSS
4, ESS

Options :
64635081887. 1

646350918838. 2
64635091889. 3
64£35081890. 4

Question Number : 138 Question Id : 64635023409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635091887. 1

646350818838. 2
64635081889. 3
64635081590. 4

Question Number : 139 Question Id : 64635023410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Linux 1s the most well-known and widely used
1.  Open source operating system
2. Java platform
3. Communication software

4.  System software

Options :
64635091691. 1

646350918392. 2
64635091833. 3
64635091594, 4

Question Number : 139 Question Id : 64635023410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options

646550918391. 1
64635081892. 2
64635081833. 3
64635091894. 4

Question Number : 140 Question Id : 64635023411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Data scrubbing 1s :

1. A process to reject data from the data warehouse and to create the necessary
indexes.

2. A process to load the data in the data warehouse and to create necessary
indices.

3. A process to upgrade the quality of data before it is moved into a data
warchouse.

4. A process to upgrade the quality of data afier it is moved info a data
warehouse.

Options :
64635091895. 1

64E3500189¢€. 2
646350918397. 3
646350815938, 4

Question Number : 140 Question Id ; 64635023411 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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